df

MS.

R2

L]

T I

(Coefficient of Determination)
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21-30
31-40
41

1-5
5-10
11

120
%0
60
30
10

199

135
194
19

149
199

15
60
213

9%
87
167

55
45
53
151
44

31-40 1%
140

&

38.80
55.70
5.50

42.80
51.20

431
17.24
18.40

21
25
48

1580
1293
1523
43.39
12,64

55.70
51.20



42.80 213
60 15 " 7840, 17.24
1
48 30
, 120 5% 60 8 .90 45 510

" 434,158152129 126

10

X SD.

51.36 474

, 25.26 2.94
48.22 561

23.00 2.13

I 41.42 581
195.57 17.94

51.36
25.26
23.00

431
167

5

151
44



11
44.09
12
3

2
34
12
10
1

1106 515

1362 582

X
44.09
5191
56.17
48.10

200.31

5191

11.06
1362
5.82
5.15
35.65

SD.
241
345
152
167
2.26

16

SD.

10.64
8.1
9.03
9.84

33.712

48.10
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14231151  10.74

14

o w 5 oo

$#

4.44
535
136
2.25
1423

30
24
23
1

14.23
11,51
10.74
35.65

SD.

144
161
68
1.39
3.04

S.D.
3.04
2.52
247
2.26

Il



15

16

13

23

410
3.35
211
1.36
1151

253
4.92
175
154
10.74

SD.

Wil
112
94
Al
2.52

SD.

85
1.66
18
14
247

8



17

18

&S| BRRR

109
1363
5%
515

372

>
UL
n4
103

372

AR
SD
2%
3%
160
10

69

20 - 30

203
3D

323
200
2%

690

ny
1374
5733
Vil

&b

>
U2
1%
10%

3

3140
D
233
348
16
16

619

31 - 40

41

3140
SD
29
239
239

619

1047
2R
568
48

316

1268

1058

316

D
23
376
13
15/

Y

4
D

2l
260
216

Y
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fl

BERR

~

20-30 31-40 41
!

_____ 15 _ 610 _

X SD X SD X D
N3 268 00 3% 04 2%
555 307 U5 398 D% 2%
6% 18 50 1% 608 168
5210 50 19 516 1%
5 6P $10 918 G 654

1-5

- 10

1



20

21

- 10

pi

BSRR

~

163
12200
ng

%

109
133
516
49

390

3D
30
219
218

659

D
18
42
13
1B

6.74

15

11

1360
100
109

390

1-

ne
14D
61/
53

30

D
3P
36
216

918

5

D
2
357
19
160

6.4

610

UP
nx
1016

A6k

108
133
576
512

30

D
3%
23
2%

654

D
247
33
12
167

6%



«

)

22

»

24

23
Jiks)
1000

390

D
19
28
3%

6.74

I3
DA
18

30

D
308
247
28

614

U2
n3
102

30

306
29
28

6%

82
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*p< 05

24

05

df

345
347

345
347

43
45

343
347

126.433
14846.495
14972.928

457.415
14515.513
14972.928

192.265
2219.387
2411.652

155.122
14817.206
14972.928

M.S. F
63.216 1.469
43.033

228.708  5.436%
42.074

96.133 1.862
51.614

38.930 901
43.198

(Scheffe’s Method)
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W
33.50 17 45
35.20 2.8
38.00
*P< 05
$
05
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*p< 05

df

345
347

345
347

43
45

343
347

9.861
2004.748
2014.609

18.986
1995.623
2014.609

15.797
309.942
325.739

1.663
2006.946
2014.609

M.S.

4,930
5811

9.493
5.784

7.899
7.208

1.916
5.851

&

848

1.641

1.096

321
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*p< 05

(Scheffers Method)

df

345
341

345
347

43
45

343
347

29.981
4105.706
4135.687

126.273
4009.414
4135.687

55.465
432.187
487.652

34.229
4101.458
4135.687

M.S.

14.991
11.901

63.136
11.622

21.732
10.051

8.557
11.957

05

1.259

5.433*

2.759

115



21 !

1333
13.34
14.09

*P< 05

05

01

16

15
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*P< 05

df

345
341

345
341

43
45

343
341

4.329
803.901
808.229

13.960
7194.269
808.229

8.311
122.667
130.978

11.236
796.994
808.223

M.S.

2.165
2.330

6.980
2.302

4156
2.853

2.809
2.324

396

3.032*

1.457

1.209

05
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*P< 05

df

2
345
347

345
34T

43
45

343
347

6.808
959.421
966.229

9.139
957.090
966.223

2.884
90.442
93.326

12.990
953.239
966.229

M.S.

3.404

2.781

4.569
2.774

1.442
2.103

3.247
2.719

89

1.224

1.647

686

1.168



§1

30

*P< 05

df

2
345
341

345
347

43
45

343
347

54,097
3158.968
3213.066

43913
3196.154
3213.066

49.828
573.585
623.413

32.026
3181.040
3213.066

M.S.

21.049

9.156

21.956
9.186

24914
13.339

8.006
9.274

2.954

2.390

1.867

863



df

345
341

345
341

43
45

343
341

*P< 05

(Scheffe” s Method) 32

13.466
2197.461
2210.928

46.075
2164.854
2210.928

6.157
304.560
310.7117

37.344

2173.584
2210.928

05

M.S.

6.733
6.369

23.037
6.275

3.078
1.082

9.336
6.337

a

1.057

3.671*

435

1473



32

1134
1150
1228 (

*P< 05

05

16

R

18*

9%
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*P< 05

(Scheffe' © Method)

df

345
347

345
347

43
45

343
347

34

6.560
2110.644
2117.204

91.3%
2025.809
2117.204

21.429
271.896
293.326

1.786

2109.418
2117.204

05

MS.

3219
6.118

45.697
5812

10.715
6.323

1,946
6.149

93

536

1.782

1,694

316



34

10.00
10.52
11.81

*P< 05

05

52

181
1.29*



a a
3
age exp comm  Comm1  Comm?2
(age) 1.000
(exp) 900 1.000
(comm ) 258% 243 1000
(comm 1) 23020 83 1.000
( . .
(comm 2) A72% 158 836* 695* 1.000
(comm 3) 20 191 .909* 680* 120%
(comm4) 21% 208%  704* 479* 543
(comm5) 240 238 882 604* 650*
! (cli) 105* 068 299 213* 236*
(cli1) 062 041 228* 182* 160*
(cliz) .126*  095* 317 218* 211%
(cli3) 108 060 273 166* 245%
(clid) 089 050 .249* 190* A72%
-021 -074  .168* 158* 1111*
(DK)

*P< .05

Comm 3

1.0

S71*
153*
227*
187*
219*
220%
181*
157*

Comm 4

1.0

601*
237*
154*
253*
228*
215
073

Comm 5

1.0

344
254*
382*
306*
288*
166*

cli

1.0

873*
912*
895*
862*
151*

Clil

1.0

T44*
682*
633
167*

Cli2

1.0

801*
707*
163*

Cli3

1.0

J11*
.099*

Clid DK
1.0
103* 1.0



05 (r = .168,158,111,157 .166)

05 (r = 151, .167, 163, 099
109



«

b SEb Beta t

086 037 170 il
-2.259 016 100 -2.889*
-216 068 -189  -3.152
049 049 149 8%

224 075 163 2.960
$ -012 - 008 49 -160
061 046 520 832
- 026 -023 684 -416
083 067 9% 1.220

080 033 131 2434

# 053 036 A33 663
$ -072 -054 17 -985
$ -033 -026 591 -AT7
R = 284 SEN= 6337 constant = 29.160
R2=.080 F=1723%

*P< 05



37

Solution

*P< 05

05

13

167
212
239
284

05

(R2 change)

R3
028
045
057
080

08 (R2= 029)

28

045 (R2= .028)

05

3.9 (R2change = .039)

R2change
025
039
049
069

98

Stepwise

F
9.611*
7.824*
6.714*
7.235%



3
057 (R2= 057)

4.9 (R2change = .049)

4

080 (R2=080)

05 I'

38

(Beta)
R= 284 SEat = 6.337
R2= .080 F= 7234
*P< 05

Beta

8 (R2change = .069)

b SEb Beta
102033 167
182 075 132
-.129 062 =114

2259 782 -170

constant = 29.16

Beta 132, -114

05

31 *
2.428%

-2.082*
-2.889*



100

y'= 2916+ 080 ( ! I )+.204 (
)- 216 ( )- 2.250 ( )

= A3 ( ! ] ) + 163
)-.189 ( - 470( )
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